T%ﬂ%t‘l‘] 15
AR R

R K2R A Tt S g w A




- i

(311 RERMIES | FRLE X

7 | R
XE 2 3L

| 3.1.2 AEBS KIS {

a7 TR LT L
1%]5 < 3.1.3 HAMSE

T | a2 FRBAMLE

5

% SR S l2-14

B4 B R B R RS

@@G)ﬁ@



1. A&k

(DS EEEEV(t), SREEFEs(1).
B s'(t) = v(t)([@50), 3K s(1).

(2)C %0 i 28 bR — RAE I PIZE /1R K (X), K&y = (X).

B v = k(X)(E%

1),y = f(x).

® 0 ® am



2. JRERERI e X

HIEIN, F'(x)= f(X)ERdF (x) = f(x)dx,

TFRE ()N (X)EETH B —N R B

-

(In x)' _t (x>0), In x,%l%‘
X X

—t
b

(sin x)' =Ccos X, Sin X#&cos X A7 L.

= X [H] (0, +00) P BT IR BRI 4K

@@G)@E



3. R BRI

b

b

EFL HRBE(X)E
JR BRI B (X).

BlRE: (1) RERB R G E—?
(2) HAME—ENZ B 2BKR?

X M) _EEEE, MIf()EI LT

fn (sinx) =cosx  (sinx+C) =cosx
(CRERFHO
® M M M




S

FEEL2. WF)RF)EXTENTA R — R R, N

(1) F(x)+ CHAF (x)F1— R R

HACHERFE

(2) HO ()RS (X)) —AJRERE W (x) = F(x)+C.

IEH: (1) w[F()+CT=F'(x)= f

(X),

~F(X)+C Rf (X)R— P EE

2) -+ [(x) - F(x)] = ®'(x)- F'(x)
. ®(x)=F(x)=C
Bl &(x)=F(x)+C (CAREE

= f(x)— f(x)=0

E ).

@ @ 6 ®



VEY=W
(1) WIFRETE
(2) VISR BH R BBA—ERVERE.
(3) JR R BUAME—.

(S

H 58 XX H]_ A R R

/i ;sin2 x,—;cos2 x,—icos 2XER A& (sin x cos X)) JR BRI 2.

(4) TR £ (x) 78 | B R R FRE()FE | BRI,

@@G)ﬁ@




1.2 Y BRBIEX B LR RS, #RN (X)E

| ERIAER . BN
[ f(x)dx

JIFGdxE F )+

O

W
HEE R

5 B = §
R

oz 3 T

@ @ 6) @



IR b, PRI CLRIRREL f () A0 I ek ) i £,

R BREL T (x) I EFAS

F—" K2

AR, kI

X2'=2X, 2xd X = X? C: Rt —1

(X%) [2xdx=x"+ K

(sinx)'=cosx, [cosxdx=sinx+C; %2‘&%&%

(In|x]) =", [Zdx=In|x|+C. | ®RFEH»
§ X AR,




EE: () REARRT P EAERIEA LRI & X
(B RN — I BEER.

(2) R R ERIEdEERFNE.
aaf £ (u)duP AR 222 & B u dx 5[ udu.

(3) AR5 R BB AN AR, BT
RER 5MERRR, BRREE—IEH A
R

(A FEF'(x)= f(x), [ f(x)dx=F(x)+C.

@@ M M

—




e

A /\ﬁmﬂﬂ%)‘(

5 F () R () B —™ B B B MIFRY=F (x) B BT T (X)
— KR HI £%.

WIf £ (x)dXRAT (X)BIFE— 2% AR 70 B AT E YT R £
BHCPATE 3 TR 2 B A R 23 i 2 4 REHY Hi 2RI,

\/ S AL

A FI A1 P AT

ll‘

o 1)) ) )

X @@ ® M



B R EE A (1, 2) =G
PIR AR T SR AT IO, SRR TR

iR WHZHERN Y= (X),

mEpmam Y oox
adx

B f (X) R2X KI—N R RS
°.°_|'2xdx=x2+C, - f(x)=x*+C,
BT A (1, 2) =>C =1
FisREIZ RNy =X +1.

@@GD@@



55 J'xdx__2+c jJ_dx N
X
jizdx=—i+C
X X

(3) jd—x=|n|x|+c;
X
@@ ® &



(4)

()

(6)
(7)

(8)
(9)

J‘ 1 ~dx =arctanx+C;
+ X

1
IJl—xz

dx =arcsinx+C;

_[cos xdx =sinX+C:

_[sin Xdx =—cos X+ C:

J
J

dx

COS° X
dx

sin® x

_jsec xdx =tan X+ C:

—_[csc Xdx =—cot X +C:

@ @ 6) @



(10) [secxtan xdx =secx+C;

(11) [cscxcot xdx =—cscx+C;

(12) [e*dx=e*+C;

X

(13) [a*dx="1
Ina

(14) [sinhxdx =cos

+C;

NX+C;

(15) [cosh xdx=sin

(16) [0dx =C.

NX+C;

® o6 ot



NEAR 71 HY:

a
A
N

P -

(1) i([[ f(x)dx]= f(x), B d[f f(x)dx]= f(x)dx,

(2) [F'(x)dx=F(x)+C, B [dF(x)=F(x)+C.

(3) I[f(X)::

g(x)]dx = [ £ (x)dx £ [ g(x)dx;

iERR: - [[ f (x)dx+ | g(x)dx]

=[[ f

AT

(x)de i[[g(x)de = f(X)x g(x).
X}

@ @ » ®



(4) JKE(x)dx =k[ f(x)dx. (kWtER

(5) [k, f,(x)dx = Xk, ] ,(x)dx.

y =B i)

HERQ)Q)UEHMTBESRARRTHEHE

PR (3) T e 2 R 2 BB AR L.

@QQQ@




391 dfd[d[ f(x)ax=( f(x)dx )

Zr2.

‘&I xf (x)dx =arccosx+C f (x)=( )

@ @ » ®



& . RAFERS I BB
#]2. rl‘ﬁ_f\/_(x —5)dx 3. I(10X .32+ 35in X + /X )dx

Bia. W | (ZX&_);jg\/_)\/_dx mis [ (2* —3")dx

‘ 3 2 1
b6 I(1+ e BT it | xJEl):rxX)

1+2x° i x* +1
8. rrﬁijxmx)dx lo. i [
#110. j' sec Xx(sec x —tan x)dx  #11. _" cot? xdx.

. COS 2X

B2, [ 13, jsm e )Z(dx
B4 J‘1+0052x @ @ & M




w2, HE j&(x2 —5)dx.

fif: [Vx(x?=5)x = [(x? —=5x2)dx
RBRSAR (2) [ x dx=

> 1
= [ x2dx — 5[ x2dx




3. T [ (10 - 3% +3sin x +/x)dX.

fiE: [(10*- 3% +3sinx +/ x)dx

= [90* dx + 3 sin xdx + [~/ xdx

X 2 3
—3005x+§x2 +C

IN90




I(ZX&_ X ;— 3&)&51)(_

w4, HE

X

- j(2x&— >)<(:— 3&)&(1)(

1

=[(2-x 2+ §)dx
X

=2x-2Jx+3Inx +C




5. THE [ (2% —3%)%dx.

il [(2"=3")dx=[(4"—2-6"+9")dx
B 4X 6X 9X

+C

= — +
In4 In6 In9




FHIMI TR EEERRAER T, TRHRNARA

dx
(3) I?=|H|X|+C; (4) jl+1xzdx=arctanx+C;

@ @ » ®



3 2

Bl6. TH&E j(l dx.

+X2_J1—x2)

3 2
i I(1+x2 J1—x2)dx

1 1
=3_[1+ 2 dx—z_ul_ 20

= 3arctanx—2arcsinx+ C




1 1 1 1
="'(1+ x2+x)dx ="‘1+ X° dX+I¢jX

=arctan x+In/x/+C.

® @ & ol



2
pls. & | HEX dx. SRR

X (1+ x°) I R
TG
°O
1+ 2x° 2+ X
I 2+ XZdX=J‘1+X +de
X“(1+ Xx°) x?(1+ x?)

1 1
=I?dx+j'l+xzdx

1
=——4arctanx+C.
X




X*+1 X'+ X=X =142
ﬁ@ IX2+1 I X2+1
2
=[(x* =1+ dx
1 s

=§x — X+ 2arctan x+C.

® @ ® ol



N

B ITIESFRE, FREHERRTR

/\:—&jj

(6) [cosxdx =sinx+C;

(7) _[sin xdX =—cos X+ C:

(8)
(9)

BilH

TR B S = AR 7 XA

IR 47
Sin® X +c0s° X =1;
tan® x+1=5ec’ X;
cot“X +1=CSC’ X;

I jsec Xdx Sin 2 = 2sin XCOS X;
cos X
=tan X+ C; ) .
, C0S2X =C0S” X —SIN° X;
_f = jcsc Xdx
sin’ X =~ cotx+C; , X _C0sx-1

(10) [secxtanxdx=secx+C; 2

(11) [cscxcot xdx =—CSCX+C;



5]10. 75 [ sec x(sec x — tan x)dx.

fi: [ secx(sec x —tan x)dx
= [(sec” x —sec x tan x)dx

=tan x—-sec X +C

11, ‘rl*ﬁjcotz xdx.

fi#: [cot® xdx = [(csc® x —1)dx
=—cot Xx—x+C.

@ @ » ®



12, WH | COSZX dx.

COS XSln X
COS 2 X Cos* X —Sin® X
#: I 2 2 dX=I 2 a2 dx
COS™ XSINn™ X COS™ XSINn™ X

= [(csc® x —sec’ x)dx

=—cot x—tan x+C.

® @ ® ol



w13, & _f Xl de.

sin® ~cos®
2 2

1 4

sin® x

R | dx

dx = |

L, X, X
sin® ~cos® =
2 2

= 4 csc’ xdx

=-4cot x+C.




14, HE | dx.

1+c032x

T T I S

14+ c0os2X 1+ 2cos*x—1

1 1 1
=" dx="tanx+C.
choszx 2

UiER:  BARBON =M RN FERT=
AIEEFEE, A RfEHAE ZIﬁE{éﬁ%.

@@G)ﬁ.




B -5 B R BRI A e R 7 ISR YA
1. So3R 257 BUER o FEAH ML X 8] A H) JER BRI X
2. BZERES T RALRBHIES T

G5, ()= XS SRF () = [ F(x)dx

2%, x>1

6. sk je—'X'dx.

6@6363é£§£




X+1 X<

15, Hf (x) =+ SRF(x) = [ £(x)dx

2%, x>1

7 X <1y, F(x):j(x+1)dx:%x2+x+(31

x > 11, F(X) = j2xdx =X’ +C,
N RHA] SIS AF (X)FEX = 1b A E X HiEE
MIMA,F1+0)=F(@1-0)=F(1)

E[J:%+1+C1 =1+C,=> %+C1 =C,

T

é\clzc,)rw(:z:%w

@ @ 6) @



FiT EA

“x°+x+C,x<1
F(X):<2 1
X2+E+C’X>l

\




Bl16. R je"x'dx.
B x>0 0, Je_'x'dX=_[e‘de=—e‘X+C1,

Gx<ohf, [e™dx=[e"dx=e"+C,,

T R S eR B A S S R B, i
lim (—e” +C)_I|m(e +C,),

x—0"

i C,=C,+2, MIf

[eriax=]"® "27C X200 (cnptri)
e”+C, x<0.




